sajzzoy / syuauodwo? uonang

/ sbumii / saqny

3496

Flow Rate Controllers / Valves with Adjusting Dial
Low-Height / Union Straight

N Part Number . Wrench Thread Size| Mass
Flow Rate Controller — Meter-Out EB 21.6 Type o jpee| & = FatsH | " M (0)
Low-Height SPCNLH H‘ 192 _ | M3 [220 . 135] M3x05 | 17.8
‘ 8 4 M5 [215(16.4| 8 1.5 125 M5x.8 17.9
e " - SPCNLH 1 23.5 R1/8 21.7
L [=2]
- %”‘ <°‘ il ==y e 6 | M5 [2251 " T 10 [ Wsx08 [ 212
= = 1 260" : 160] RS | 242
. \H
I
j \M Part Number By B oP T c od E F Mass
Material: Body: 303 Stainless Steel Type D [ Max. | Min. z ! * 1l
s 1) e e e e
M3 Only Body/Thread: 303 Stainless Steel SPJYS | 8| 285 [ 249 | 28 | 14.8 | 154 | 181 | 32 | 182 | 7.2 | 25
) 10| 326 | 289 | 31.8 | 182 | 197 | 202 | 42 | 222 | 87 | 46
Flow Rate Controller - SPJYS fowmanaontedy 12| 352 | 315 | 212 | 215 | 227 | 234 | 42 | 257 | 102 | 65
Union Straight In-Line ! x
JIS Mark
Q
20d § & __ PartNumber |
e - & _ Type D A B E F H d J K L
[ o~ i — | 3 4] 455 17 8.1 11.6 55 12 16.2 30.8
- 2-B2 2-C 6| 455 17 8.1 11.6 49.5 12 16.2 30.8
— = NBDY 8 50 22.5 95, 131 66.5 43 15 19 4
ey rection arng 10| 58 | 29 [ 115 [ 151 | 75 0 | 23 | 4
- on Resin Body 12 58 | 29 | 115 | 151 | 79 20 | 23 | 41
Flow Marking -
on Body Free Flow Control Flow
JIS Mark 7 | Part Number | PartNumber |- | Nominal |
[RotiS 10} Material: Electroless Nickel Plating /] Example SPJYS10
Thread: Brass (Nickel Plating) SPCNLH4 - M5
L NBDY8
Valve with NBDY T -
Adjusting Dial @@n SPCNLH / SPJYS Specifications
H Applicable Fluid Air
L Operating p Range -5-60°C
w '\ Operating Pressure Range 0.05-0.7 MPa
\\. %\ % - *Operating pressure is set at ambient temperature (20°C).
w pY ml i -
‘ i I K NBDY Specifications
- L
Fluid Air / N2 Gas / Vacuum
Op P! e Range 5-60°C (Non-Freezing)
Max. Operating Pressure 0.7MPa
Flow Rate Characteristics Negative-pressure -100kPa
Guaranteed Withstand Pressure 1.5 mPa
D=4 D=10
SPJYS ! 0.7MPa 1200 0.7MPa .
go - g i NBDY Structure Diagram No. Part Name Material
= g0 = 05MPa| | |
£ £ (1) Needle Brass
§ £l § 600) u‘_gm T M ‘(2) (@ ) ) 2) Rotary Shaft Brass
E 4 E 400 | q Aluminum Alloy, /
H | ﬂm E 0.1MPa ®) ®) Dial Polvamide / etc.
= 1 = ‘ - 4) Dowel Pin Stainless Steel
0 - 10 0 910111213 @) (5) 0-Ring Fluorotubber
eedle Revolutions Needle Revolutions k (3) 4@) Guide Bushi Brass
- D=6 o D=12 5 (7) | Check Metal Brass
o B o © (17) (&) | _MainBody | Polybutylene Terephthalate
I S oea S O 16) _@ Stop Ring Stainless Steel
.0l £ e H (10) 0-Ring Hydrogenated Nitrile Rubber
s 0.3MPa] 2 a0 el Be —— (1) 0-Ring Hydrogenated Nitrile Rubber
€, T e € 60 (12) Gasket Hydrogenated Nitrile Rubber
= MPay B MPa——|
2 5 /: - 2, (13) Holder Brass
[y — == = = === S, (10)  (11)(12)(13)(14)(15) _(14) Chuck Stainless Steel
Needle Revolutions Needle Revolutions (15) Quter Ring Brass
D=8 (16) Push Ring Polybutylene Terephthalate
600, (17) Joint Case Polybutylene Terephthalate
=l 0.7MP X
H O Al brass parts are electroless nickel plated.
0 WP
3 03MP4 | Features Precautions
I | DI — Linear flow rate characteristics — Throttle valves for controlling both
== proportional to needle revolutions. right and left sides flow rate.
1 4 10 11 . . . . o
NBDY Needle Revolutions — Dial display makes it easy to control — Not applicable as a stop valve which
" D=4 - D=10or 12 value of flow rate. requires no leakage.
g; 0.7MPa 0.7MPa — Mounting part with 360° turn provides — Fix the dial with slide locking lever
i 0s5Pa 00 5P free mounting. after adjusting flow rate.
gummig oare  Somn /// oawpa — Slide locking lever provides easy locking. - ‘Ol'lghl'\(‘en thelmountlng screw at
5 NR) 1 A e Z (ANR) — .6 N.m or lower.
= H o e (R I [T ]o1mpa
4 T 100/
§ ] =s=a
001 2345678 9111213 001 2345678 91011121314
Needle Revolutions Needle Revolutions
D=6 D=8
120 400
u]g 0.7MPa 350 0.7MPa
90 300
gg 0.5MPa 250 L 0.5MPa
Bominso L 0-oMPa gf/mm - B [ {o3wPa Bottom Side Mounting Example
B (ANR) gg —] S BN 100 i
2 @ 2 - ——0.1MPa v SR 0.1MPa
‘g 1 0 ‘é:’/’

45678
Needle Revolutions

¥ MiSUMi

910 11 12 13

01 234567891011121314
Needle Revolutions

There’s more on the web: misumiusa.com

Flow Rate Controller

Stainless Steel / Heat-Resistant / Clean Environment

Flow Rate Controller Meter Out [’L‘ PaT" Humbisr 5| Nominal | A | € | C | E W"’“cl:‘ Flats Th’eﬁ Size N:";?s
(Stainless Steel) - ASPSL - B LLL
Standard - [ H 4 M5 | 21 |321]367] 12 10 M5 x 0.8 25.9
1 23 |37.9]434| 14 13 R1/8 41.0
%// M5 |225/32.1(36.7] 12 10 M5 x 0.8 24.9
sl - L _ 6 1 24.5(37.9|434| 14 13 R1/8 405
b -1 **]}ﬂ w 2 26 |47.1]53.3| 17 16 R1/4 73.0
ASPSL 1 26 |37.9]434 | 14 13 R1/8 39.2
k 8 2 27.5|47.1|53.3| 17 16 R1/4 71.8
—— M 3 |295]55.161.6] 22 19 R3/8 133.0
< ! 10 2 30 |47.1(533] 17 16 R1/4 70.7
[RoHS 10| Metric Thread Type :ﬁ 3 32 |55.1|61.6] 22 19 R3/8 134.0
M 12 3 33.5|55.1|61.6| 22 19 R3/8 129.8
Structure @ 1 | 1) No. | Part Name Material No. Part Name Material
H'd : H 1) | Handle 316 Stainless Steel 9) | Check Part 316 Stainless Steel
Speclflcatlons Dlagram @ 1) 3 EZ; Spindles 316 Stainless Steel ((1(;) Gasket Fluorine
Applicable Fiuid A D) 0p02 a4 (3) | Lock Nut 316 Stainless Steel _(11)]| Chuck Holder | 316 Stainless Steel
Operating Temp Range -10-60°C U — (4) | Rotary Shaft 316 Stainless Steel (12) | Chuck SUS301
Max. Operating Pressure 1.0 MPa s Te o AW ] | (5) | 0-Ring Fluorine (13) | Push Ring A 316 Stainless Steel
Operating Vacuum Level 0.1MPa 6) Object| 316 Stainless Steel (14) | Outer Ring 316 Sta?nless Steel
(7) | E-Ring Stainless Steel (15) | Push Ring B 316 Stainless Steel
Feature: Excels in corrosion resistance. ® (8) |V Gasket HNBR Nitrile Rubber
‘7 (11)(13) (15)
[t ©)
Flow Rate Controller Meter Out ‘ A Pi';p’:"mb”’ | Wominal | A | ¢, | c, | E Wrench Fiats| Thread Size N:z;s
(Heat-Resistant Type) — KSPSL . B
Standard N H 4 M5 |22.6] 30 327|125 1 M5 x 0.8 25.6
1 24.8|38.1]44.4|12.5 14 R1/8 43.1
M5 241 30 327|125 il M5 x 0.8 26
sl i 6 1 26.1|38.1]44.4|12.5 14 R1/8 434
Sl 1 ’**E{ w 2 27.6|46.9|53.3|14.5 17 R1/4 68.9
KSPSL 1 26.9 |38.1|44.4 (145 14 R1/8 45.8
| 8 2 28.4|46.9|53.3|14.5 17 R1/4 69.1
= \M 3 30.1/51.2|58.4 145 21 R3/8 106.5
™ ﬁ 10 2 31.2/46.9|53.3|18.6 17 R1/4 82.4
[RoHS 10| Metric Thread Type —— 3 |330[512584]215] 21 R3/8 127.7
il 12 3 36.1/51.2|58.4|21.6 21 R3/8 134
Structure _No.| Part Name Material _No. | Part Name Material
Specifications Diagram 3 (1) |Knob Brass (Electroless Nickel Plating) (8) | Guide Ring | Brass (Electroless Nicke Plating)
Applicable Fiuid I (2) | Lock Nut Brass (Electroless Nickel Plating) (9) | Lock Pawl Stainless Steel
Operating Temperature Range 0-100°C 1) (3) Three_:d Body | Brass (Electroless Nickel Plating)  (10)| Diaphrag H-NBR Nitrile Rubber
st D10 WP @ 5:223: rrABR e fubber g ;; ;;':Ial:s:!ody Bmss':é:\;ﬁ;\::;:eN?:&T:ating)
Cheok Valve Operating Pressure | D05 P { ®) E?J;ase Brass (Blectroless Nickel Plating) - y3) 'Veedle | Brass (Electroless Nickel Plating)
Feature: Flow rate control valves suitable for using (6) | Tube —
at high temperature and in spattering environment. ( 7) |Cover Brass (Elecroless Nickel Plating
Flow Rate Controller Meter Out Part Number A c, c, E Wrencr? Flats Three:\;li Size | Mass
(Clean Environment) — PJSPS | Type | D @
Standard 4 M5 200 | 27 | 297 | 99 8 M5 x 0.8 7
H 1 215 | 344 | 405 | 10 12 R1/8 18
; M5 241 | 27 | 297 8 M5 x 0.8 8
Sl [ (R 6 1 236 | 344 | 405 | 124 12 R1/8 19
“r = ’ﬂ“" 2 256 | 414 | 476 16 R1/4 38
PJSPS 1 26.9 | 344 | 405 12 R1/8 22
MM 8 2 284 | 414 | 476 | 144 16 R1/4 41
- 3 28.9 | 465 | 535 21 R3/8 69
2 311 | 414 | 476 16 R1/4 44
[RotiS 10 Metric Thread Type :i% 103 314 | 465 | 535 | ° 21 R3/8 7
12 3 371 | 46,5 | 535 | 21 21 R3/8 106
Specifications Structure Diagram
Fluid Air
Operating Temperature Range 0-80°C 0 partifame Metenal
= (1) Lock Pawl Stainless Steel
Operating Pressure Range 0-0.9MPa ) Ring Polypropylene
Check Valve Operating Pressure 0.05 mPa 3 Tube —
Features (4) Guide Ring 304 Stainless Steel
— Material PP (Polypropylene) is used. Suitable for use in a clean environment. (5) Elastic Sleeve EPDM Synthetic Rubber
— The body is semi-transparent, so fluid is viewable from outside. (6) | 0-Ring EPDM Synthetic Rubber
Precautions for Use (7) | Metal Body 304 Stainless Steel
- No oil permitted. ®) Resin Body Polypropylene
— Confirm if the tube is inserted to the tube end of the body. 9 Diaphragm EPDM Synthetic Rubber
(10) Lock Nut 304 Stainless Steel
Part Number | PartNumber |- | Nominal | (11) | Needle 304 Stainless Steel
/4 Example ASPSLA - 1

Check out misumiusa.com for the most current pricing and lead time.

Tubes / Fittings /
Suction Components / Nozzles

3497



